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Consideran 0.100 M solution of the/weak base ammonia
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- Add a salt containing A (example: NaA)

—
—
D
e
c
=
%
ul
=
5 |® i
2| o o
D | e c
( ) O) S _ “.,
¢ 5| = 2 2
L £ 5 g @
N (¥ AW (&) - e ( o
A 2] ‘ © 0 ==
TR 2 E %4 O O )
1 -~ O = =
c S r c -  ©
= © < v L 5
S| » — cO ©
(L N (@) = —
£ Mu - - ) © gm -
s N o & < 5 ©
B © © S| | N _ 8 O
< 2 Qo >0 5
O > = = + == | 4=
g © | © > ©L 5
0 YoRile) > | =c 2
-
go) DD B 53 2
& > 5 3 S c & =
S SR o o9  c
Q s = ¢ S52 o
m ol B © 2.5 O
o © © 0 28 ©
C w 0 D - = )
- (L c | Cc -
o mlu = M @) I "N 1
o ) LL il
Q =) (J
-“l. .- N—r ﬁM\
o) ©




-r

roull

T

Handaren

| A AW |

Hasselbalch
Equation

=9 A Soa =g

ns of bot

€q

r
|

f
|

Al +A +h

equarl to tn

12

S

Vil

HA

1

| IS )

there are significant amounts

f\:l“l\hﬁ.t‘l Q
OT oLt oIuc S

(FR7

ATA - APr

II) .

1KY

-~/

P

WA

Il-llu.ll.y NY

Mange,;

rLO\

~

LR RRY

(‘

NMultiniy by

E that the initial concentrati

pr—

N\ TraL

\J

£\

(Iq

l Q ) D NAryera fa.Va Q I\ l;v‘\

7R

Ca
I\

\vi o) Ly

N

/
AN

<7

A Aand it

r

\

4 D)

or—

L X= V..oV S A

- We ASSU

(ne aclid ana Its conjugate ar

concentrations. Valid |

+tha A

nf hoth enaciac initi

Ul VUL «

\

C A

C
A

N

A\t




1|
c—0O
(@) l,.M -
P95
O Q=
N |®©
cC v o
(O] Qm (@)
| I Ll
P
e ~ ———
e LU 1| T
5 |2 ol :
N 2
(4 Q O ~ } ¥ O
o) C. (3@ R L 3 2
el (\J — - » b
AL .kv 2\
\ llv (V = l— Tlu
(S o 1 —
A - - ”.lln =
w ¥ O ~ S~ _ S~ - r
- Mm nv T~ QO
—\IL hd J - d -t
< -
xv\ Sy
- (4 L, ]
> . T m Tt ¥
/Av .'O—I— \“
oD D J S
“1 r x -
2 ™~ S = <
. - R L} \—
2 N M/ D) /U
,~ “
\ ,W .|1. = T O—
/ n—
Q
v —~ =~
- N
-
a 1
7




